| N of associated (recoToSim) tracks vs normalized x? |

[N of reco track vs normalized x2 ]

track x?

berset

=

0924 6 & 10 12 14 16 18 20

=) 2 .4 d
= i 5
syoen aresidnp oney sxoex areandnp oney
I o
N <
.Joo x
— O
I H T T T B
18" A : :
= N N N N H
— . . . . .
A [ : : :
S . . . . 2
s SR : |
. . . B — o
o Lo : : :
Jo H H H N o
B N N N N o
BN N N N N o
H H H [ IHEH i
£ k) 3 ]
5 = 3 5
syoel) axye} oney Syoel) e} oney
I o
N <
.JoO x
— O
g
Jo & . .
— . .
s . .
—
BN . .
o . .
Jo : :
— . .
o . .
-Jo . .
- N N
Ja . .
5 N H H
5 R@% 5
o] sdoen enn
o
Yirey
k==
o Po3
NS¢ i
o < ¥
-9 ¥ PO
gl
o 5 i
AR A
>3
1S oo
Ya'al
I [oV}
—
Jo
— W
b Gy "
L]
Jo 7
@
2
d< x
g
B¥ [V .nnv.
3
2
T -
> 5 >
5 = 5
oney L] syoen

syoen




	Contents
	Page 1


